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= 20245 RAT T AT #L A=B+D 38. 7264 38. 7264
(—) — &tz B 3.9237 3.9237
Horr: FRRRGE iR C 3.0913 3.0913
(=) Buifiis D 34. 8027 34. 8027
Horr: FRRRE i E 13. 7927 13. 7927
T\ 20244 1B AR TR PAT B F=G+H 12. 4319 12. 4319
(—) — i G 2.6417 2.6417
(=) B H 9. 7902 9. 7902
= 20245 AT BT AT #L I=J+K 0 0
(—) —Hkfiizz J 0 0
(=) Lhifi% K 0 0
VU, 202540 A% Tl 5 4L L=M+0 5.7163 5.7163
(—) — iz M 3.1563 3.1563
Horr: PRRRSE U 2. 9746 2.9746
Vo BT 22 4 N 0.1817 0. 1817
(=) B 0 2. 56 2.56
Horr: FRLSE i 2.41 2.41
WA BT 22 HE P 0.15 0.15
T 202544 BT AL Q=R+S 4.9283 4. 9283
(—) —f&fhizr R 1. 1618 1.1618
(=) BHUfRH S 3. 7665 3. 7665
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